Warmup 9/

(Area of a square with a side length of 3)
For 1 & 2, select the correct graph and explain why you chose it.
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3) Draw a graph with an x-axis of “time” and a y-axis of “distance
traveled” that would be impossible — that is, where Tom would be in 2

places at once.




Go over Graphing Stories WS
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What is a Function?

Objectives:

-Introduce yourself to the VERY important math concept of a
“function”

-Decide if a table, graph, or situation is or is not a function




Game: Guess My Rule




Would this be a fair rule?

Input Output
9 45

5 31

1 7

-4 -18




Would this be a fair rule?

Input Output
10 45

7 19.5

3 -0.5

6 13

10 45

-6 19




Would this be a fair rule?

Input Output
1 -6

2 -3

3 2

5 18

7 42

10 93




Would this be a fair rule?

Input Output
5 13
2 13
97 13
-3.2 13

0 13




THIS SENTENCE IS REEEEEEEEEEALLY

VO Cab IMPORTANT!

- A function is a rule. EQch ingut
must only have one output.

input I::> rule E:> output

*(It has to be “fair”1!1)




Rest of today:

* We will simply be asking the question “Is this a
function???”

* We will do more practice later with trying to
figure out what the rule is. But for now, all we
care about is if the rule is FAIR or not.




Function?

Xy

3 6

5 10
5 12
3 14
12 18

No; the input “5” has more
than one output.




Function? n
8 16

10 -20
1 -2
4 -8
1 -2

Yes; there is a repeated input,
but the output is the same.




Function? x|y
1 5

w NN N
O 00 N O

No; the inputs “1” and “2”
have more than one output.




Function? n
1 24

2 9
3 -6
4 -21
5 -36

Yes; each input has only one
output.




Function? n
1 -2
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|
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Yes; each input has only one output.
(You can have the same output for
multiple inputs!)




Function?

(21 8)1 ('51 9)) (71 9)) (21 '4)1 (71 4)

No; the input “2” has more
than one output.




Function?

Yes, each input has only 1
output.




* Mapping Diagram:

* Express the relation (2,0), (5, 9), (-1, 9), (-2, 16) as a mapping
diagram.

4 ) 4 )
2 —
5 ~ 0
-1 29
-2 —>16




Function?

4 ) 4 )
0 .6
sizziiiffsg; >5
2 — -10
3 —— 9

\_ J \__ J

Yes, each input has only 1
output.




Function?

No; the input “6” has more

than one output.

4 ) 4 )
4 —— > 2
6 — | > 11
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Function?

4 ) 4 )
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Yes, each input has only 1
output.




ISIT AFUNCTION?

One input 2 Multiple outputs = BAD

Multiple inputs = one output = OK

(There are several types of mathematical rules that
can give you repeated outputs. For example,
multiplying by zero then adding anything. Squaring
a number. Taking the absolute value. And many,
many more!)




Let's look at some graphs
now...




8 This graph is just plain wrong.
How can Tom be In two places at
once”?

H Input = time,
Output = distance from home

One time = 2 different locations:
does not make sense!!!

Distance from
home

Time




1 Tom ran from his home to the bus
stop and walited. He realized that
he had missed the bus so he
walked home.
Input = time,
G Output = distance from home

2 different times = same
location: does make sense!

Distance from
home

Time




What is the input and output of
this point?

Input =8
Output =-3
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[f the input is 6, what's the
output?

Output =8




On a graph...

ll 14

is the input, and “y” is the output.




